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N/mm?) N/mm?) N/mm?) N/mm?)

CH 21 56.1 260,2% 11 56.1 220,"%

CM 14 389 220, 0.88 389 190,

cL 0.20 35.1 085,% 013 35.1 060,

D 0.07 174 007+0, tan17.4< 0.05 174 004+c, tan174=

CH 21 56.1 260,"% 11 56.1 220,.0%

CM 14 389 220, 0.88 389 190,24

cL 020 351 080,”® 013 351 060,%

D 0.07 174 007+0, tan17.4= 0.05 174 0.04+0, tanl7.4=

CH 21 60.3 220,°% 12 60.3 200,

CM 16 50.3 220, 078 50.3 190,

cL 020 351 080,”® 013 351 060,”%

D 0.07 174 007+0, tan17.4= 0.05 174 0.04+0, tanl7.4=

CH 21 60.3 220,"% 12 60.3 200,”%

CM 16 503 220, 078 503 190,

cL 0.20 351 080,”% 013 351 060,”%

D 0.06 18.3 0.06+0, tan18.3< 0.05 183 0.04+0, tan18.3<
0.02 26.7 o, tan26.7< 001 26.7 o, tan26.7<
0.03 250 o, tan25.0° 0.02 250 o, tan25.0<
0.09 182 o, tan182< 0.08 182 o, tan18.2<
0.08 195 o, tan195° 0.06 195 o, tan195°

o, N/mm
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(1)

HEE

ml 2 (B-B” )

Ss-1 Ss-2 Ss-3

1 8.7 11.0 9.9
36.15 20.39 11.21

2 10.6 18.3 15.6
16.14 20.38 11.35

3 D) 79 7.0
16.14 20.38 11.35

12

1.2
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(2)

m] 2

SS—S

6.3
1134

14.0
1103

6.0
10.85

Ss-2

7.9
2039

15.0
20.37

6.8
20.37

®

1.2




(3)

m]?2 )

Ss-1 Ss-2 Ss-3

1 Q5 7.2 54
8.55 20.39 11.05

2 3.4 6.4 4.8
21.43 20.39 10.82

3 37 65 5.0
21.43 20.38 10.81

14

1.2
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15

m 34 (A-A” )
SS—l SS—Z SS—S SS—l SS—Z SS—3
6.1 | 5.6 4 72 | 19.2 | 184
16.47 20.38 10.85 16.37 20.99 10.86
112|157 | 147 5 120218185
16.48 20.39 11.06 21.36 20.34 1131
125|187 176 6 6.8 | 104 | 9.6
16.48 20.99 10.87 16.37 20.99 10.86
1.2 — O
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